© Copyright : Gatic Pty Ltd - 2008

1 2 4 5 6 7 8 9 10 11 12 13 14 15 16
755
jimi] o
¢ T Tt T T A S |
) ( ) ( ) ( ) ( ) (
) ( ) ( ) ( ) ( ) (
J( ) ( ) ( ) ( J (
) ( ) ( ) ( ) ( J (
) ( ) ( ) ( ) ( ) (
) ( ) ( ) ( ) ( ) (
) ( ) ( ) ( ) ( ) (
) ( ) ( ) ( ) ( J ( =2 3
) ( ) ( ) ( ) ( ) (
) ( ) ( ) ( ) ( ) (
) ( ) ( ) ( ) ( ) (
) ( ) ( ) ( ) ( J (
= I H e 3 R
1 ( ) ( ) ( ) ( ) ( ) ( ) 1
A ( ) ( ) ( ) ( ) ( ) ( ) A
e | H ) ( \_( ) ( L ( ) ( ) |
oy oy
655
757
610 C/O Item Document Revision Title Material Qty Mass
No. No.
? @ oiF |I LT . LT I n LT '17/' lf o 1 1077 C gllaoS);GBlO C/O Transverse Grate Ductile Iron 500 - 7 1 35.7 kg
2 3482 A 610 mm Bar Class B Ductile Iron 500 - 7 2 8.1 kg
SECTION A-A 3 3484 A M8x40 Socket Head Cap Bolt Stainless Steel, 304 2 0.0 kg
4 3273 A 755 mm End Plate Class B Galvanized steel 2 5.2 kg
3275 A M10x35 Hex Head Bolt Galvanized steel 4 0.1 kg
6 2369 A M10 Washer Steel 8 0.0 kg
7 2370 A M10 Nut Steel 4 0.0 kg
- AR DORGIDG TGS M~ Ml 0~ Oveak TP~ Ty 0= st oo = @EL o e AR Ty TR
2 A N R s e oTor e a. = | N T T Do ot T [ B3
“[No | DATE | DescRIPTON Y [CKD| o Tavess: 3= Rt R BiREAED, o APPLIED ON A s s | PROJECTION [wom] e | 0505 | Lof 1 3274 A
1 2 | 4 5 6 7 8 9 | 10 | 11 | 12 | 13 | 14 | 15 | 16




